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This root schematic (SCHEMATICl) contains a
hierarchical block named HB1 that is
associated with SCHEMATIC2.

To view the sub-schematic, right mouse click
the HB1 block, then choose Descend
Hierarchy.

Additional hierarchical blocks may be added
by selecting Hierarchical Block on the Place
menu.

Double click a pin on the hierarchical block
to change the name. Click on the "Pins" tab
in the spreadsheet editor.

§ R2 R1=2.5v/6A=0.41lohms

[Title
<Title>
Size Document Number Rev
A <Doc> <Re
Date: Friday, February 27, 2004 [Sheet 1 of
2




